
0 10 20 30 40 50 60 70 80
1.920

1.930

1.940

1.950

1.960

1.970

1.980

1.990

2.000

CH
4 

(p
pm

)

-8.0

-6.0

-4.0

-2.0

0.0

2.0

4.0

6.0

8.0

Et
ha

ne
 (p

pb
)

-104.749 -104.740 -104.730
Longitude

40.257

40.264

40.272

La
tit

ud
e

1.92

1.93

1.93

1.94

1.94

1.95

1.95

1.96

CH
4 

(p
pm

)

-104.749 -104.740 -104.730

40.257

40.264

40.272

-6.00

-4.00

-2.00

0.00

2.00

4.00

C2
H6

 (p
pb

)

DCP Mewborn - Altitude 89, Start = 81630,CH4 Div = 0.1 kg/m/hr, C2 Div = 49 g/m/hr, WS=3.7, TURB = 2.23
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DCP Mewborn - Altitude 132, Start = 81709,CH4 Div = 0.1 kg/m/hr, C2 Div = 2 g/m/hr, WS=3.7, TURB = 2.59
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DCP Mewborn - Altitude 198, Start = 81787,CH4 Div = 0.1 kg/m/hr, C2 Div = 15 g/m/hr, WS=3.6, TURB = 3.04



0 20 40 60 80

1.930

1.940

1.950

1.960

1.970

CH
4 

(p
pm

)

-8.0

-6.0

-4.0

-2.0

0.0

2.0

4.0

Et
ha

ne
 (p

pb
)

-104.749 -104.740 -104.730
Longitude

40.258

40.265

40.273

La
tit

ud
e

1.92

1.93

1.93

1.94

1.94

1.95

CH
4 

(p
pm

)

-104.749 -104.740 -104.730

40.258

40.265

40.273

-8.00

-6.00

-4.00

-2.00

0.00

2.00

C2
H6

 (p
pb

)

DCP Mewborn - Altitude 247, Start = 81872,CH4 Div = 0.1 kg/m/hr, C2 Div = 19 g/m/hr, WS=3.6, TURB = 3.13
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DCP Mewborn - Altitude 319, Start = 81956,CH4 Div = 0.1 kg/m/hr, C2 Div = 13 g/m/hr, WS=3.8, TURB = 2.67
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DCP Mewborn - Altitude 384, Start = 82041,CH4 Div = 0.1 kg/m/hr, C2 Div = 45 g/m/hr, WS=3.9, TURB = 2.58
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DCP Mewborn - Altitude 435, Start = 82125,CH4 Div = 0.0 kg/m/hr, C2 Div = 45 g/m/hr, WS=3.8, TURB = 2.57
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DCP Mewborn - Altitude 500, Start = 82209,CH4 Div = 0.3 kg/m/hr, C2 Div = 30 g/m/hr, WS=3.7, TURB = 2.86
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DCP Mewborn - Altitude 607, Start = 82294,CH4 Div = 0.3 kg/m/hr, C2 Div = 33 g/m/hr, WS=3.8, TURB = 2.69
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DCP Mewborn - Altitude 665, Start = 82384,CH4 Div = 0.1 kg/m/hr, C2 Div = 21 g/m/hr, WS=4.2, TURB = 2.43
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DCP Mewborn - Altitude 737, Start = 82472,CH4 Div = 0.2 kg/m/hr, C2 Div = 68 g/m/hr, WS=4.1, TURB = 2.23



0 20 40 60 80

1.925

1.950

1.975

2.000

2.025

2.050

2.075

2.100
CH

4 
(p

pm
)

-7.5

-5.0

-2.5

0.0

2.5

5.0

7.5

10.0

Et
ha

ne
 (p

pb
)

-104.750 -104.739 -104.729
Longitude

40.258

40.266

40.274

La
tit

ud
e

1.92

1.94

1.96

1.98

2.00

CH
4 

(p
pm

)

-104.750 -104.739 -104.729

40.258

40.266

40.274

-8.00

-6.00

-4.00

-2.00

0.00

2.00

4.00

C2
H6

 (p
pb

)

DCP Mewborn - Altitude 808, Start = 82559,CH4 Div = 0.5 kg/m/hr, C2 Div = 79 g/m/hr, WS=4.1, TURB = 2.42



0 20 40 60 80

1.925

1.930

1.935

1.940

1.945

1.950

1.955

CH
4 

(p
pm

)

-8.0

-6.0

-4.0

-2.0

0.0

2.0

4.0

Et
ha

ne
 (p

pb
)

-104.751 -104.740 -104.729
Longitude

40.258

40.266

40.274

La
tit

ud
e

1.93

1.93

1.93

1.94

1.94

1.94

1.94

1.94

CH
4 

(p
pm

)

-104.751 -104.740 -104.729

40.258

40.266

40.274

-8.00

-6.00

-4.00

-2.00

0.00

2.00

C2
H6

 (p
pb

)

DCP Mewborn - Altitude 867, Start = 82649,CH4 Div = 0.1 kg/m/hr, C2 Div = -11 g/m/hr, WS=3.7, TURB = 2.49
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DCP Mewborn - Altitude 905, Start = 82739,CH4 Div = -0.0 kg/m/hr, C2 Div = 17 g/m/hr, WS=3.5, TURB = 2.71
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DCP Mewborn - Altitude 968, Start = 82831,CH4 Div = 0.0 kg/m/hr, C2 Div = 19 g/m/hr, WS=3.4, TURB = 2.12
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DCP Mewborn - Altitude 1034, Start = 82921,CH4 Div = 0.1 kg/m/hr, C2 Div = 30 g/m/hr, WS=3.5, TURB = 2.73
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Kerr McGee - Altitude 90, Start = 83335,CH4 Div = -0.1 kg/m/hr, C2 Div = -2 g/m/hr, WS=3.0, TURB = 1.92
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Kerr McGee - Altitude 130, Start = 83421,CH4 Div = 0.0 kg/m/hr, C2 Div = 34 g/m/hr, WS=2.7, TURB = 3.00
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Kerr McGee - Altitude 191, Start = 83505,CH4 Div = 0.0 kg/m/hr, C2 Div = -6 g/m/hr, WS=2.6, TURB = 3.01



0 20 40 60 80

1.930

1.940

1.950

1.960

1.970

1.980
CH

4 
(p

pm
)

-7.5

-5.0

-2.5

0.0

2.5

5.0

7.5

10.0

Et
ha

ne
 (p

pb
)

-104.758 -104.748 -104.737
Longitude

40.249

40.256

40.264

La
tit

ud
e

1.93

1.94

1.94

1.95

1.95

CH
4 

(p
pm

)

-104.758 -104.748 -104.737

40.249

40.256

40.264

-6.00

-4.00

-2.00

0.00

2.00

4.00

6.00

C2
H6

 (p
pb

)

Kerr McGee - Altitude 258, Start = 83596,CH4 Div = 0.1 kg/m/hr, C2 Div = 23 g/m/hr, WS=2.2, TURB = 2.85
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Kerr McGee - Altitude 313, Start = 83686,CH4 Div = 0.1 kg/m/hr, C2 Div = 17 g/m/hr, WS=2.4, TURB = 3.31
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Kerr McGee - Altitude 376, Start = 83775,CH4 Div = 0.0 kg/m/hr, C2 Div = -2 g/m/hr, WS=2.6, TURB = 2.47
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Kerr McGee - Altitude 434, Start = 83864,CH4 Div = 0.1 kg/m/hr, C2 Div = 27 g/m/hr, WS=2.4, TURB = 2.89
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Kerr McGee - Altitude 505, Start = 83948,CH4 Div = 0.1 kg/m/hr, C2 Div = 38 g/m/hr, WS=2.7, TURB = 2.80
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Kerr McGee - Altitude 562, Start = 84034,CH4 Div = 0.1 kg/m/hr, C2 Div = 24 g/m/hr, WS=3.0, TURB = 3.42
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Kerr McGee - Altitude 615, Start = 84117,CH4 Div = 0.1 kg/m/hr, C2 Div = 6 g/m/hr, WS=2.9, TURB = 2.49
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Kerr McGee - Altitude 684, Start = 84200,CH4 Div = 0.1 kg/m/hr, C2 Div = 27 g/m/hr, WS=3.0, TURB = 2.89
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Kerr McGee - Altitude 732, Start = 84288,CH4 Div = 0.1 kg/m/hr, C2 Div = 35 g/m/hr, WS=3.1, TURB = 2.67
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Kerr McGee - Altitude 818, Start = 84377,CH4 Div = 0.1 kg/m/hr, C2 Div = 14 g/m/hr, WS=3.0, TURB = 2.42
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Kerr McGee - Altitude 915, Start = 84471,CH4 Div = 0.0 kg/m/hr, C2 Div = -12 g/m/hr, WS=2.9, TURB = 3.02
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Kerr McGee - Altitude 1007, Start = 84562,CH4 Div = 0.0 kg/m/hr, C2 Div = 9 g/m/hr, WS=2.9, TURB = 2.55
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Kerr McGee - Altitude 1083, Start = 84652,CH4 Div = 0.1 kg/m/hr, C2 Div = 34 g/m/hr, WS=3.3, TURB = 2.24



0 20 40 60 80

1.922

1.925

1.927

1.930

1.932

1.935

1.938

1.940

1.942
CH

4 
(p

pm
)

-12.5

-10.0

-7.5

-5.0

-2.5

0.0

2.5

5.0

Et
ha

ne
 (p

pb
)

-104.759 -104.747 -104.736
Longitude

40.248

40.257

40.266

La
tit

ud
e

1.93

1.93

1.93

1.93

1.94

1.94

CH
4 

(p
pm

)

-104.759 -104.747 -104.736

40.248

40.257

40.266

-8.00

-6.00

-4.00

-2.00

0.00

2.00

C2
H6

 (p
pb

)

Kerr McGee - Altitude 1180, Start = 84746,CH4 Div = 0.0 kg/m/hr, C2 Div = 36 g/m/hr, WS=2.8, TURB = 2.16
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Kerr McGee - Altitude 1283, Start = 84836,CH4 Div = -0.0 kg/m/hr, C2 Div = -42 g/m/hr, WS=2.6, TURB = 2.66
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DJB_Raster - Altitude 179, Start = 61161,CH4 Div = 32.7 kg/m/hr, C2 Div = 2980 g/m/hr, WS=2.6, TURB = 1.98
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